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Paper / Subject Code: 23020 / Computer Systems and Applications. " | O "
~<ugle ]

Time: 22 Hours - . - Total Marks: 75

Note: 1) All questions carry equal marks and are compulsory.
2) Figures to the right indicate maximum marks for a question.

QL. (4) Attempt any two sub-questions from (a), (b),(c) in spreadsheet
(True/False)
(@) Shiftkey is used to select a non-contiguous range
(b) There are two types of cell references.
(c) A pivot table is a dynamic summary of the'dat_g_. o

(B) Attempt any two sub-questions from-(d), (e),(f) in MySQL
(Multiple Choice)
(d) To indicate that there should be 5 mtegers and 2 decimal positions we use _.
i)DECIMAL(7,2) ii)DECIMAL(5,2). . m)DECIMAL(Z 5) iv)DECIMAL(2,7)
(e) When one query is written: w1th1n another query itis termedasa___
i) Mini query ii) Net query. "~ - .iii) Sub.query ; 1v) Tled query
() InMySQL, the operator LIKE "%R" flnds match forastring._o .
i) Ending with R i) Starting, with R* iif) Containing R. 1v) Contammg R%

(8} Attempt any six sub -questions from (g, (h); (1,0, (k),(1),(m),(n),(0)
in Data Communlcatlons, Networking and Internet. (True/False).
(g) The data transmission can takeplace without a protocol.

(h) Inclient sérver archltecture, all resources are controlled by the server.
() Inring topology fallure of one node Wlll not affect the functioning of the
network. : s
1)) Coax1 cable can be used over longer dlstances than twisted - -pair cable.
9] QA bn‘dge 1)5 a dev1ce using which we can- segment alarger network into two
‘ "L;smallerﬁ more efﬁc1ent networks.
AP ,iddresses are €asier to remember &
ate book'is a. search’ engine. -
(n): ;,.,Emal}s cannot be sent with attachments
o fe)e Vlshmg uses VolIP to make a phlshmg attack

S : "Attempt any flve sub -questions from (p),(q),(r),(s),(t),(u),(v),(w)
“in Data Commumcatlons, Networking and Internet. (Multiple Choice)
S network spans anumber of cities and countries.

Ji)MANS iii)WAN iv) None of these
T transmlssmn medlum that carries the message is referred to as the
“ii) gateway iii) Communication channel iv) Transport

topology all nodes are connected with a single cable.

EAfaal 11) Ring iii) Star iv) None of these
POPs tands for
1) Post’ Office Protocol ii) Post Open Protocol

)‘;Post Operate Protocol iv) None of these

As: the data packet moves from upper layers to lower layers, headersare __

n) Rearranged iii) Deleted iv) Modified

ii) Blogger iii) Presenter iv) Hacking
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Paper / Subject Code: 23020 / Computer Systems and Applications.

Q4. (A) Answer any one sub-question from (a), (b) in MySQL (8)
(@) There exists a table GOAIR having the columns Flight Number: (FNO, mteger)

Destination Name (DNAME, character), PRN Number (PRN mteger) Fare
Amount (FARE, numeric).
Write MySQL statements for the following.
i) Display Flight Number, Destination Name and Fare Amount from this table
ii) Display Flight Number and Fare Amount for the records where Fare Amount
is below the average Fare Amount.
iii) Display PRN Number, Destination Name for the records where Fare Amount
is equal to the Highest Fare Amount. -
iv) Display Destination Name, maximum Fare Amount and total Fare Amount
from the table for each Destination Name." :
v) Display all the rows from this 1 table in the: descendmg order of Fare Amount:

(b) There exists a table ABPCOLLEGE containing columns Roll: Number (RNO,
integer, primary key), Name (SNAME,:character), Class (CLASS, character).
There exists another table RESULT" containing columns Roll Number. (RNO,
integer, primary key); Total. marks - (TOTAL, " integer), Percentage
(PERCENTAGE, integer)and. Grade (GRADE character): ,

Write MySQL statements-for the followmg

i) Display Name, Class, Total marks and. Grade of a student w1th Total Marks

more than 560, usmg both the tables.

ii) Display Name, Class and Grade of students: gettmg "0" Grade using both the

tables. 24

iii) stplay Roll number and Total marks of students who have scored more

than avé»’ ge ‘otal ‘Marks using table RESULT. =

“Roll Number-and: Name of students whose Roll Number is divisible

mg table ABPCOLLEGE ‘

'Di {lay all the records from the table ABPCOLLEGE of the class “T.Y.B.COM.”

Q4. (B) _vl’“-"AnSWer any one: sub -question from (c), (d).in MySQL (7
' There exxst a table called BATAS contammg columns Employee Name (ENAME

. Wrrte MySQL statements for the followmg -
)"Dlsplay Department Name total salary and average Salary for each
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(d) N (PAN, -
mteger) Name (NAME character), City (CITY, character) Taxablelncomef(lNC b

integer) and Income Tax (ITAX, integer). i S O e N e

Write MySQL queries for the following. PR N B N

i) Display all the rows from this table where the flrst letter m(the Name ls U

ii) Display all the rows from this table in the descendmg

Income. ;

iiif) Display the columns Permanent Account numb y

from this table. * ,

iv) Display Permanent Account number, Name and Taxable I )

table where Income Tax is more than 200000; . ‘

v) Display all the rows from this table. ' A RSN

vi) Display the total Income Tax collected from this: tab]e and label 1t as TOTAL

TAX. Vg

vii) Display Name, City and Taxable Income of the Employ

“Kalpesh Joshi”. N ke Y o

Q5. (4) Answer any one sub- questlon from 1) (b) in’'MS- EXCEL (8)

(@) The following data has' been entered ina worksheet

A B SR ES BT e S
1 | FNAME . GENDER :D_EPARTMENT:-? " GITY. -
2 | NIHAL-* |'M°  EXPORT "~ :
3 | GAYATRI ['F- .~ | ADMIN
4 | RAMYA | F. SR
5 SMITH- M <TIps A
6 |[“AKAN & F ML U ERPORT & 2 4
7 SRUSHTI "ADMIN " " ['PUN
8 | POO] | EXPORT. -~
19 [SAalr = <M S TADMIN -~
10 | PRANAV | M~~~ ADMIN._ ‘,MUMBAI 78000

" :erte the steps to create s PlVOt table showmg the average salary and
, max1mum salary departmenthse in column G.

7 j’(b]' In the follow,\mngrksh,eet the co_stofmachmery is entered in cell B2, number (8)
.~ . ofyearsisentered in B3 and rate of depreciation is entered in cell B4

IS8 o - D 2 b
R pRmmepe N ik YEARS DEP WDV
2 |.COST _ -{1000000- 1
[3].YEARS |6 2
T4 RATE _[12% 3
) 5
7 2

‘Write steps to obtain the year wise depreciation DEP and written down value
WDV in.columns E and F respectively where depreciation is computed using
~reducing.balance method.
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Q5. (B) Answer any one sub-question from (c), (d) in MS-EXCEL (7)
(c) The following data has been entered in a worksheet: :

A B C D E

1 | NAME OF SALES | COMMISSION AD’HZIT]O,‘NAL TOTAL
SALESMAN ‘COMMISSION | COMMISSION

2 | Shantanu 58000 2 : s

3 | Vijay 23800

4 | Bhavana 56000

5 | Karan 72300

6 | Shiv 64200

7 | Poornima 28000

Write the steps to calculate ,
i) Commission at the rate of 15%. -
ii) Additional Commission at the rate of 20% or Rs.5000 whichever is
maximum. : St o
iii) Total Commission = Commission +Addivt\ional‘CQmmiSSion.

(d) Explain the following built in fuhétio‘nks”‘inMSéEUXCEL «
1.PV() -2.NPER(). ~ “3.PPMT(): . = 4.5UM()
S5MIN() - 6ABS() = 7.ROUNDDOWN()

T T T
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Paper / Subject Code: 23040 / Marketing Research.

L e

Marks —75

Time -2.5 hours
N.B.. 1. All questions are compulsory.
2. Figures to the right indicate full marks.
Q. 1. Answer Any Two of the following questions: (15)
a) Deﬁne Marketlng Research. Explain 1ts advantages n.b ef
(15)

b) Explain the steps in formulatmg
¢) What is a Questionnaire? Expl ‘

(15)

(m

(05)
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